> restart

> EcuaNoLineal = y(x)-2+xy(x )-diff (y(x),x) +x--2 —y(x)x--2=0
EcuaNoLineal = (y(x) +xy(x) ) (%y( )) i —y(x) =0 )
=> SolGralDirecta *= dsolve( EcuaNoLineal)
SolGralDirecta := y(x) )
_ (eRootof(z_Ze%Z+x2e272—2xe272—3472—4&2—4&2x— 1 —2x—x2 42 C1&-2%) 1
+x> e—RootO/(ZfZez—Z-l—xZez—Z—2xez—Z—362—2—46—2—46—Zx— 1 —2x—2+2 Cc1&%)
_> M(x,y) factor(x2 —y- xz)
i M(x,p) = -x" (-1 +y) @)
> N(x,y) factor(y +xy )
i N(xy) =y (1 +x) @
> P(x) =-x30(0) i=-1 4y R(x) == 1 +x:5(y) =)
P(x) == -
Oy)=-1+y
R(x)=1+4+x
i S(y) =" )
i T M(x,y) )
> MM (x) szmplzfy( R(x)-00) 2
_ X
] MM (x) = -7 (6)
i T N(x,y) )
> WNG) = simpli{ 70 2
NN(y) == (7)
_ - Yy
> SolGral = int(NN (y), y) +int(MM(x),x) =C
Solel:=y+%y2+ln(—l+y)—%xz—kx—ln(l-l-x):C ®)
j> restart
> FEcua = 3-exp(x)-tan(y(x)) + (2 —exp(x) ) -sec(y( < 2-diff (y =0
Ecua =3 ' tan(y(x)) + (2 — ') sec(y(x) )2 (% y(x)) =0 )
=> SolGral = dsolve(Ecua)
SolGral := y(x) = % arctan| (2 CI (-8 4+ 12 —6™ +&%)) /(1 —192 CPA& (10)

+240 CI*e?*—160 CI*&*+60 CIPe**—12 clPe*+ crPe®*+64 CI?),

-(64 CI*—192 CI*¢"+240 CI*e**—160 CI*e™*+60 CI*e*" —12 CI*e”

+ P 1)/ (1-192 CIPe +240 CI2e2* —160 CI2 ™ +60 CI2e™




—12 CrPe*+ Ccrre® +64 Cl?))
P(x) == 3-exp(x);

O(y) = tan(y)

R(x) =2 —exp(x)

S(y)==:se0(y)2

SolGral = int( gg; ,x) +int( )

SolGral := —3 ln ) +In(tan(y)) =C

G

restart

Ecua = diff (y(x), x) + y(xx) =0

Ecua = y(x) + % =0

d
dx
SolGral = dsolve( Ecua)

Cl
X

SolGral =y(x) =

an

(12)

13)

(14)

15)

(16)
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